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(1) ZEhtet(v) YTHOFEHICEY v = 10 %
(2) Bl A58 (m)
1
al= = 1.25
2.0-V
L= oo
m = al X SL = 1.25 X 27 = 33.8 N/mf
X->T m = 33.8 N/of
(3) KA FEE(W/C) m = -14.3 + 25.4 X C/W
W/C = 25.4 =+ (33.8 + 14.3) X 100 = 52.5 % = [55% (_-FR{HE) ]
S W/C =525 %
(4) Bk B (W) BTHOFFEIZEY W = 170 ke/mi
(5)HENEA Y FE(C) C =W +~ (W/C) X 100 = 170 +~ 52.5 X 100 = 324 kg/m
Cv= C =+ )}:rg =324 + 3.02 = 107 L/od
(6) 2558 (A) 4.5 % X 1000 = 45 L/md
(7)MEM=E(s/a) %I‘%@%fjﬁf@ LW s/a = 47.3 %
(8) i FE#ME(S) Sv = (1000 — (WH+Cv+A)) X s/a = 678 X 47.3 % = 321 L/m
Sly = Sv X 60.0 % = 193  L/ni S1= SIvXREEE = 193 X 2.56 = 494  ke/m
S2y = Sv X 40.0 % = 128 L/m S2= SoyXFEWEE = 128 X 2.67 = 342  ke/m
(9) BALHEHM & (G) Gv = 1000 — <W+CV+ Sv+A) = 1000 — 643 = 357 L/m
G = Gv X R = 357 X 2.71 = 967 keg/mi
(10) BAriRFFIE (Ad) Ad = C X HIIE X R = 324 X 0.60 % X 1.00 = 1.94 kg/m
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